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ELECTRIC CIRCUITS

Faked famal 0502444737 Fated amal 0502444737

| reached two different resistors
respectively with a battery, the following
statements are true in describe the
equivalent resistance of the circuit

Ciua g A daaa LU G el ) iy jUay
A0 jUall A1) A slaall

(S

A | The equivalent resistance is smaller than (| The equivalent resistance is smaller than
the biggest resistance the small resistance

The equivalent resistance is greater than

B | The equivalent resistance is equal to the D )
the large resistance

value of the resistance .
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Three resistors(3(2,2(2,6Q)on series the

equivalent resistance il (30.20.60) Qu};af
A 114 C 360
B 10 D 0.5Q
https://t.me/FahedKamal
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Three resistors(30Q,20,6Q)on para'lal dagliall o)) gl Je (30,20,60) Sl glia &G
the equivalent resistance . RECILON]
A 11Q C 360
B 10 L 0.5Q

[Pagel




Fated Kamal 0502444737

| reached two different resistors parallel
with a battery, the following statements
are true in describe the equivalent
resistance of the circuit

Fated Kamal 0502444737

P23l (5515l e (pfilin (e e Cila g
Ciua s 8 dagaia I el 6l sl
4 )Uaall 2aal<all Ao slall

A The equivalent resistat.ce is smaller The equivalent resistance is smaller than
than the biggest resistance the small resistance
B | The equivalent resistance is equal to the D The equivalent is very big
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Which of the following represents.c
safety device in the Circle ?

% 0l b olal Slea i (b Las g

Ammeater

Voltmeter

Breacker

Galvanomet
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Which of the following devices havea
circuit that senses a new path of curient

over current?

Fated famal 0502444737

- okl 1paa 1 )bus

Switch Fuse

ground-fault Circuit

interrupter Breaker
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In the circuit , if we remove a ' A glaa Al L Liad 1) ¢3 yilal) &
resistor from the circle, what is the fio I8 bt sl s, 28 gl
change in each From the resis“ance, s sl )1_1_\3\ ¢A88LSAal) e slaal)

the current passing through it? fla e
A Less equivalent resistance, less total C Less equivalent resistance, increase
current total current
increase equivalent resistance, less increase equivalent resistance,
B D .
total current increase total current
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In the circuit , if we remove a — A slaa AN 5l Liad 1) 63yl 8
resistor from the circle, what is the oo O JS (8 uall La 6 pilall (e
change in each From the resistance, | == (3 (Jsa (P2 a2 s Ll (AaElSal A glaal)
the current passing through t? _ Lol W e
]
A Less equivalent resistance, less total| @ Less equivalent resistance, increase
current total current
B increase equivalent resistance, less D increase equivalent resistance,
total current increase total current
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In the adjacent circle,
) Cle) ji oy 5 glaall 3 5lall 4

compare the readings of the W )M—Jﬁl‘
voltametric conductors at
every resistance.

A Vi>V, Vi= Vz

B V<V, D Vsource = V1 = V3
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What is the reading of the
ammeter in the circuit
shown in the figure?

Faked Kamal 0502444737

A sall 5 5lall 8 yiaaY) Be) 58 L
sl &

A 15A 25A
B 35 A D 45A
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In the circle Compare the OF 7 - Cile) A c 50l A
readings of the ammeter Jj 2 - Aaglia JS 2ie il
connected devicesateacn | .. .2 000 soon
resistance
A h=l=1I3 l1<1x<I3
B 1>1>13 D l1=1>13

Faked famal 0502444737

What is the scientific law on which
Kirchhoff's link base is based ?

12
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e anle Cuiy (A1 alall o gilall ga L
T ol <l dlia 4l

The lawof conservation of mass

The law of conservation of charge

The iaw of conservation of
momentum

The law of conservation of energy
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What is the scientific law underlying
Kerkhof's ring rule?

Faked famal 0502444737

13

A aghy 53 aladl (gAY 8 L
$d g <t 48lal) () oild

The law of conservation of mass

The law of conservation of charge

The law of conservation of
momentum

The law of conservation of energy

Faked Kamal 0502444737

If the equivalent resistance of four
identical resistors connected in a
Series is 120Q. How much is each
resistance?

14 Fated famal 0502444737

AdUaia il gl 2o )Y ABlSal) 4 glilal) cuails 1)
fdaglia JS A aS a4l 120 A Al o Adaia

A 0.3Q

30 Q

B 40 Q

480 Q
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The equivalent resistance of the:
combination shown in thg ficure is

nnnnnnnnnn
»»»»»
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S i JSAY) Aa8LSal) A glial)

100

19.2

16.7 14
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“ila glae Aulall A0alSA4) Al glaal) culS 13|
If the equivalent resistance of eight similar Slasie dpiladt 48 s =S

resistors connected in parallel is equal 3 () oS ol 3 s gl o Abia g Al

how much each resistance? i slae JS
A 0.375Q & 2.670Q
B 24 Q D 12 0
Fated Kamal 0502444737 17 Fated Kamal 0502444737

How much power is delivered to a
motor with resistance of 20 Q from a yaa Al lelua 58 o (Al 3 0l jlase L
battery of 24 volt? Calsd 24 Waga 4y jUay (e a5l 20 4laslae

A 2 W 1.2 W
B o9 W D 30 W
Faked famal 0502444737 18 Faked Kamal 0502444737

How much power is delivered to a e gl Flaas ) lelia g o Al A8 laie L
lamp with resistance of 40 Q if a zloadl ye juel 0.8 ohie LU e 13 ayl 40
A current passes throughithe 0.8 A
lamp

A 29 W C 0.02 W

B 50 W D 26 W
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What is the mistake in the

Fated amal 0502444737

a short piece of metal that acts as a safety
device by melting and stopping the current
when too large a current passes through it

circuit? G}I__, z % ilal A Uadl) o8 L
A | The way of connecting voltmeter| E2E The symbol of the battery
Ammeter and —r—
B | The signs of the battery terminals. | D The direction of the conventional
current
Fahed famal 0502444737 20 Fahed Kamal 0502444737

L Gk oo lel JleaS Jani 5 sl dians dalad
& ye 13a S LS )y e die Gl Galsy)

ez
A Circuit Breaker C Grounding breaker
B Fuse D Switch
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an automatic switch that acts as a safety
device by stopping the current if the current

gets too large and exceeds a threshold
value.

DLl Gl Gk e glal JleaS Jans (G e
Agiall dad ety Aa )5S Ll praal 13)

A

Circuit Breaker

Grounding breaker

B Fuse

Switch
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when a circuit with very low resistance, we L€y ¢l dzaddia daglie Cld 3 ilal) () oSS Ladie
can called it is SIS Lethvands
A Open circuit C Short circuit
B Load D Nothing
Fatked Kamal 0502444737 23 Faked Kamal 0502444737

what happens to light lamps connected on the series if one breakdown ?

@FAHEDKAMAL

what happens to light lamps connected on the parallel if one breakdown ?

Faked fanal 0502444737 24 Faked famal 0502444737
Three resistance connected on series (5Q,3Q,6Q ) with 24 volt .

Calculate the strength current.
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Three 22-0) resistors are connected in series across
a 125-V generator. What is the equivalent resistance
of the circuit? What is the current in the circui:?

Faned Kamal 0502444737 26 Faked Komal 0502444737

A 12-0), a 15-0), and a 5-(2 resistor are connected
in a series circuit with a 75-V battery. What is the
equivalent resistance of the circuit? Whatis the
current in the circuit?

Faked Kamal 0502444737 27 Faked famal 0502444737

A 9-V battery is in a circuit with three resistors con-
nected in series.

a. If the resistance of one of the resistors increases; how
will the equivalent resistance change?

b. What will happen to the current?
c. Will there be any change in the battery voltage?
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A string of lights has ten identical bulbs with equal
resistances connected in series. When the string of
lights is connected to a 117-V outlet, the current

through the bulbs is 0.06 A. What is the resistance
of each bulb?

Faked imal 0502444737

Faked Kamal 0502444737 29

Calculate the potential differences across

across the battery.

three resistors, 12-Q, 15-0), and 5-Q), that are connected
in series with a 75-V battery. Verify that the sum of their
potential differences equals the potential difference

Faked famal 0502444737

Faked famal 0502444737 30

ter reads 0 A, AV, reads 0V, and AV
reads 45 V. What has happened?

The circuit shown in Example Problem 1 is producing these symptoms; the amme

Faked famal 0502444737
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Suppose the circuit shown in Example Problem 1 has these values: Ry = 255 ()
R> =290 (), and AV = 17 V. No other information is available.
a. What is the current in the circuit? :
b. What is the potential difference across the battery?

¢c. What is the total power used in the circuit, and what is the power u| a i
each resistor?

d. Does the sum of the power used in each resistor in the circuit equal the total
power used in the circuit? Explain.

Faked Kamal 0502444737 32 Faked Kawal 0502444737

Holiday lights often are connected in series and use special lamps that short out
when the voltage across a lamp increases to the line voltage. Explain why. Also
explain why these light sets might blow their fuses after many bulbs have failed.
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. A 9.0-V battery and two resistors, 390 () and 470 (, are connected as
a voltage divider. What is the potential difference across the 470-(1 resistor?

Faked Kamal 0502444737 34 Faked Kawal 0502444737

The circuit in Example Problem 1 has unequal resistors. Explain why the resistor
with the lower resistance will operate at a lower temperature.

Faked Kamal 0502444737 35 Faked famal 0502444737

You connect three 15.0-() resistors in parallel across
a 30.0-V battery.

a. What is the equivalent resistance of the parallel circuit?
b. What is the current through the entire circuit?
¢. What is the current through each branch of the circuit?
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Suppose you replace one of the 15.0-() resistors in
the previous problem with a 10.0-Q2 resistor.

a. How does the equivalent resistance change?

b. How does the current through the entire circuit
change?

c. How does the current through one of tiie 150-0
resistors change?

Fahed famal 0502444737 37 Fahed Kamal 0502444737

You connect a 120.0-Q) resistor, a 60.0-() resistor,
and a 40.0-() resistor in parallel across a 12.0-V
pattery.

a. What is the equivalent resistance of the parallel
circuit?

b. What is the current through the entire circuit?
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What is the current through each branch of the
circuit?

Faked Kamad 0502444737 39 Faked Kamad 0502444737
* Refer to Figure 20 to answer the following questions:
a. What should the ammeter read? ”@_‘
b. What should voltmeter 1 read? s |"@ ' ‘C‘;’?f i
c. What should voltmeter 2 read? J:im_ov 159%};
d. How much energy is supplied by the battery pet T
minute? '

e. What is the equivalent resistance in the circuit?

[Pagels




Faned Kamal 0502444737 40 Faked famal 0502444737

Total Current A parallel circuit has four branch currents;
120 mA, 250 mA, 380 mA, and 2.1 A. How much
current passes through the power source?

Faked famal 0502444737 41 Fated Kamal 0502444737

The load across a battery consists of two resistors,
with values of 15 Q2 and 47 (), connected in series.

a. What is the total resistance of the load?

b. What is the potential difference across the pattery
if the current in the circuit is 97 mA?

Faned Kamal 0502444737 42 Faked famal 0502444737

Which of these are combination series-parallel circuits?
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Which ordering correctly express the
potential drop in the three branches
of the circuit in the figure

R;:SDQ

3
T

Ri=150

Faked fKamal 0502444737

OBl (e mana (S uny i i
g JSE) 85 yslall BDEN ¢ 5l A Jaiaall
Ry=3502

A AV = AV = AVs AV3< AV2< AV1
B AV3> AV2> AV1 D AV3> AV2< AV1
Faked famal 0502444737 44 Fahed Kamal 0502444737

From the figure below, if 11 = 44, I3 = 24

I3=2A ;=44 <13 ‘f,mi JEN (e
I2 38 2a sl [, =124 «

A 18 A D 28 A

Faned Kamal 0502444737 45 Fahod Kamal 0502444737
o o sy ) Ll

The current supplied by the T . ——1 i}

voltage source is . N L - X 92 3l juae

-.‘E =
A 0.25A | B 0.5A C 1.5 A D 1.25 A
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Three parallel resistors 20Q) , 60Q 30Q connzcted withe battery 90 V

a- calculate 1, 12, I3
b- Equivalent resistance
c- calculate the net current
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